N6HSL
dams l 600mm H-Frame End Legs

Maestro 25 Desking

S



BN
\
A=,

AT9INISSY HO4
d3diNd34d S71001

\

14ITNVIN ¢
J71O9NHLS LNOd

34VO HLIM SIN3LI
JFTANVH SAVMTY

JONVILSISSY HO4d
T11VO 3HNSNN di

N3Ha1IHO NOYH4

AVMY SONILLIH n_m_m_v_\

(Q\l



Please check that you have all the components!

N
S0
&\?f
&
NS
S
e S e
-~
N
| Please check that you have all the hardware!
= @
4mm Allen Key Confirmat Screw 70mm (Silver) Nylon M6x10 Socket
RM-ALKO1 RM-CFM04 RM-PARO5
1 4 © OO 4 S
\h—
X X X \[g

Connect Bolt M6x50mm
RM-BLTO05

X4 @)))))))))))))))))))))))))))))))))))))

Adjustable Foot Dia 38mm
RM-FRL20

x4




=)

Step 1 .@
Place your desktop face down onto a ,,
clean dry surface and knock the nylon N—

inserts into the pre drilled holes on
the underside of the desktop.

Nylon M6x10 Socket
RM-PARO05

v
x4 =

=

Step 2
Screw the 38mm adjustable feet into @
<

the bottom of each leg.

Adjustable Foot Dia 38mm
RM-FRL20

x4




=)

Step 3
Attach the leg to the =

desktop using the M6x50mm
connect bolts. Ensure the =2
portholes are positioned at
the rear of the desk.

Connect Bolt M6x50mm *

RM-BLTO05 \N
X2 @)»)))»)))»)»»»»)»»»»)»») ¢ /

TS

=

Confirmat Screw 70mm (Silver)
Step 4 RM-CFM04
Attach the leg to the
modesty panel using the x2 @-)5\3\3\3\3\3\3\3\3\3\3\3\3‘)

70mm confirmat screws.




29

Step 5
Attach the leg to the

modesty panel using the
70mm confirmat screws.

() 90% 0D

Confirmat Screw 70mm (Silver)
RM-CFMO04

X2 oy

-

Step 6
Fix the leg to the desktop

using the M6x50mm
connect bolts.

Connect Bolt M6x50mm
RM-BLTO05

X2 @))))))))))))))))))))))))))))))))))))1




NSHSL
dams l 800mm H-Frame End Legs

Maestro 25 Desking




BN
\
A=,

AT9INISSY HO4
d3diNd34d S71001

\

14ITNVIN ¢
J71O9NHLS LNOd

34VO HLIM SIN3LI
JFTANVH SAVMTY

JONVILSISSY HO4d
T11VO 3HNSNN di

N3Ha1IHO NOYH4

AVMY SONILLIH n_m_m_v_\

(Q\l



Please check that you have all the components!

1N
So
QQ'\‘,Z'
<&
S
N
S
¥ Vv s
| Please check that you have all the hardware!
— o
4mm Allen Key Confirmat Screw 70mm (Silver) Nylon M6x10 Socket
RM-ALKO1 RM-CFM04 RM-PARO5
1 4 © I 4 S
N
X X X \[g

Connect Bolt M6x50mm
RM-BLTO05

X4 @)))))))))))))))))))))))))))))))))))))

Adjustable Foot Dia 38mm
RM-FRL20

x4




=)

Step 1

Place your desktop face down onto a @ 7
clean dry surface and knock the nylon /

inserts into the pre drilled holes on
the underside of the desktop.

Nylon M6x10 Socket
RM-PARO05

v
x4 =

the bottom of each leg.

Step 2
Screw the 38mm adjustable feet into @

Adjustable Foot Dia 38mm
RM-FRL20

x4




=)

Step 3
Attach the leg to the

desktop using the M6x50mm
connect bolts. Ensure the =2
portholes are positioned at
the rear of the desk.

Connect Bolt M6x50mm Ny
RM-BLTO05

X2 @))))))))))))))))))))))))))))))))))))) ¢ |

——

=3

Confirmat Screw 70mm (Silver)
Step 4 RM-CFM04
Attach the leg to the
modesty panel using the x2 @-)5\3\3\3\3\3\3\3\3\3\3\3\3‘)

70mm confirmat screws.




29

Step 5
Attach the leg to the

modesty panel using the
70mm confirmat screws.

OmRY 003300>

Confirmat Screw 70mm (Silver)
RM-CFMO04

X2 oy

Step 6
Fix the leg to the desktop

using the M6x50mm
connect bolts.

Connect Bolt M6x50mm
RM-BLTO05

X2 @))))))))))))))))))))))))))))))))))))1




	Sheets and Views
	N6HLS - Instruction-PAGE 1
	N6HLS - Instruction-PAGE 2
	N6HLS - Instruction-PAGE 3
	N6HLS - Instruction-PAGE 4
	N6HLS - Instruction-PAGE 5
	N6HLS - Instruction-PAGE 6


